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At ERFTTEROBERNRIEZ—HLBWHEEDLH D,

Y AR iERS) B=H [Ekzikax: = BIHE
5 1,110 142,833 143,943 80 %
RxE 15,218 15,218 34 %
= 1,110 158,051 159,161 71 %
Bfi kg, M
. i I TSt
x| e g |REAE HEAR TEm Y= w0l =6 TE e
HE|ZTWIA 22,020 | Y AR 140 | F% 10 864 756 540
I, 10
By 10
GiERS] 21,880 [T 10 | 1,404 | 1,296 864
ZHH, 10 | 1,404 972 648
BH 10
M 478 | At 478 | T 0.8
i 0.8
By 0.8
ICALCA 8,150 | AN 8,150 |7 & 10 | 3,456 | 3,240 | 2916
FE 10
BH 10 | 1,620 | 1,188
halE 3! 688 | Xt 688 B 4
REA 0.2
By 2
~iFo 84 |& W AL 14 |E8R 4
&k 4
BH 4
EbS] 70 |#m 4
& ] 4
By 4
F Y 8,850 [ W A#L 500 [#=)1] 10 756 648
A 10
£ 10
iERS 8,350 [tz 10 | 1,296 | 1,188 1,080
A 10 | 1,620 | 1,296 | 1,080
By 10 756 216
L &R 1,614 | &4 AR 40 2R3 10
B 10
£ 10
GERS 1,574 |23k 10
RE 10
By 10 216
< 1,950 [& Y AfL 104 | k38 13
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Bifif : kg, M
x| w4 HFEHE |RFTHE HEARR — Eﬂ#ﬁ% —
FEHR aniE Hi| =fE B =&
By 15
GRS 1,846 |3k 13
By 15
ZEOhk 600 | Y AHL 25 |3k 0.2 54 49
BER 0.5
By 0.5
iEpS 575 |23 0.2 65 59 54
ER 0.5
By 0.5
IE2>NAZD 2,266 |t Y AL 166 |25 0.2 54 49
PSS 0.2
By 0.25
iEpS 2,100 |Z%3% 0.2 86 54 32
5 0.2 108
BH 0.25
hE 3,112 | 8% 3,112 |T% 5
I, 5 1,080 756
By 5 2,484 [ 1,188 | 1,080
Ewol) 8,500 [& W AAL 25 |35 5
BE 5
BH 5 1,728 1,620
GERS] 8,475 |3t 5 1,728 1,080
BE 5 1,944 | 1,620 | 1,512
By 5 2,484 | 1,080 756
N ESCR 14,030 | #B% 14,030 [za-v-5>¢ 10 | 2916 | 1,728 | 1,620
sk 10
& 10
ANCH 5,819 [€ Y AL 8 |=Al 0.4
& ] 4
By 5
iEpS] 5,811 [=%0 0.4
& 4
BH 5
F< b 1,337 | #Ext 1,337 B 4 1,512 | 1,080 972
A 4
By 4 2,754 | 1,296 | 1,188
IZhkw b 456 | HExE 456 REA 3 1,620 1,404
A 0.2 108
£ 0.2 108
E—< 4,075 | €Y AR 50 |Z%iA 0.15 103
= I 0.13
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B kg, M
¥ w4 HFEHE |RFTHE HEARR — ﬁﬂ#{m% —
FEHR aniE Hi| =fE B =&
B 0.15
X 4,025 |23, 0.15 108 97 76
= I 0.13
B 0.15
T E® 362 | X 362 |BBIR 4
RI& 4
BH 4 3,024 2,592
Cehd 11,940 | #Bx 11,940 [EEIR 10 5,400 | 4,860 | 4,320
mE 10
By 10
EoF0D 6,830 | #@x 6,830 [T 5
Rk 5
BH 5
TmERE 25,510 | #Exd 25,510 |dtiEE 20 | 3,780 | 3,240 | 3,132
=1 10
By 20
mELWET 134 | 48 134 |#H 0.1
=F 0.1 130 86 76
Z b 0.1 454 86
Z DMEF R 15,138 | W A#L 38
GEpS 15,100
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Bifif : kg, M
¥ w4 HFEHE |RFTHE HEARR — ﬁﬂ#fﬁ% —
FEH aniE Hi| =fE B =&
RE [T FA 840 | X 840 |rE 5
RI& 5
B 5
WAZ 6,170 | #Bxd 6,170 | &% S 10 | 5724 4,320| 3,780
£ S 10
ES EAR 10
Wb 2,491 | #Ex 2,491 |#EAR EHbEEH|0.26
I EbEH e |0.26 400 346 238
BH EbEH e |0.26 378 216 162
AR EbHHWH 026 400 324 173
& HhFErH-H |0.27
&8 WhZT&XA [0.24
] FLIEF>~2 |0.28
ZH $TIF->~ |026 270 162
B $TIF->~ [025
T—ILA XAV 90 | #Exd 90 |7 1
Al 9 8,640
By 8
TYTAAOY 1,605 | 48 1,605 |g& 5
B3 5 4,104 3,780
BH 5
ZIRETLY 500 | #Exd 500 | 2R3 8
5 8
By 8
ZDRE 3,522 | #8x 3,522
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